
     
 

 

Question Answer Marks AO Guidance 

9 (a)  e.g. From the data given, the proportions of men 

who cycle to work show much more variability 

than women, with greater proportions of younger 

men cycling than older men. 

E1 2.4   

    [1]    

9 (b)  The proportion decreased B1 2.2a   

   e.g. These workers were in the 40-44 group in 

2011, which is a smaller proportion of the 

population than the 30-34 group in 2001. 

B1 2.2b   

    [2]    

9 (c)  e.g.      

   The age group is still approximately the same size 

in 2011 

B1 2.2b For any relevant assumption  

   Very few (or no) males in this age group join the 

workforce between 2001 and 2011 

    

   Very few (or no) males in this age group leave the 

workforce between 2001 and 2011 

    

   The overall size of the workforce in this age group 

has not changed much 

    

   The sample is representative of the whole 

population 

    

    [1]    

 

 

 

 

 

 

 

 

   

 

    


